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1 mownk 1 N3 SN — Two courtyards one above the other.

Overview

The X3 discusses the case of two adjoining M1xm, where the ground level
of one is higher than the other. There is a dispute whether the owner of the
upper X1 must contribute to that part of the wall which is below his ground
level. However there is no dispute as to the responsibility of the lower s"xn
owner. He is required to assist in building the dividing wall for the full '7
mnx above the ground level of the upper ¥n. mooin will be discussing the
reason for this ruling.

mooIn asks a question:

7% NN WRN 2R — you may say; and why should the owner of the
lower 3 —

1HuY ¥o0s — assist the owner of the upper =31 to build up to four n»x above the
ground level of the upper 7xn?!

NIAR YaaR® vun onT — for when the wall reaches four NN from the ground
level of the lower 731, at which point —

TBYT R NN PARNT 921 XYY — the owner of the lower 7311 cannot see
into the upper =21; that should be sufficient for the 1nnna Sv3, since he can no
longer cause °X1 P1°7 to the 119917 730, In order to prevent 7°X1 p1°i from the 10797 %0 to
the 1'nnn, that upper part of the wall —

1%w1 7339 — should be built by the owner of the upper -zn; who alone is
causing the &7 prn.

N1B0IN answers:

1A an 121 Y — and the n''s says, that we are discussing a situation
where for instance —

T3 IR N7 3w — that the lower 2217 is not lower than the upper 737 in
its entirety but rather it is lower —

hy Dw 17van 9IR KPR — only where it is close to the 1¥n of his higher
neighbor —

19937 XM TIAN NI TAR TXM (2'N 727 X9X) — (only on one side) however
from the other side of the lower 7311 where it is not close to the 11°%v:7 231,

there the NN 7% is as high as his neighbor’s 9217 (as the 1957 78n). The 73N
1nnna slopes. It is low adjacent to the 719¥77 130 and it rises when it is at a distance from
the boundary of the 1°%¥71 9%, in such a manner —

2wn NINT® 9o1w — that it is possible to see from the rise in the Pnnna 23n into
the 1117 73, even after the wall, of nwaX '7 high from the 130107 920 ¥7p, has been built.

! See “Thinking it over’ # 1.
2 See 0"wn n1on, that some delete this phrase.
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Therefore since the 1NN 7% %92 can see into the 11°%¥77 7¥7 he must contribute to the
entire wall, until it is R '7 high from 719977 920 vp9p (and the rise in \NANT 23M).

mooIn offers an alternate solution:

wApn PrRs 11937 — and the "' explains that it is not necessary to assume that we
are discussing a sloping 7xm; but rather a regular %7, that in its entirety is lower than the
upper 2xn. The reason the 1NN must assist the 11" up to MR '7 from the ground of the
9V, is —

19%y% P annnaT — for the 1nnn damages the 7%y —

[31”211 nowa] 1Y 98P 7> — when the 1% is standing [at the edge of his

own XN ]; next to the dividing wall, which is MR '7 higher than the ground of the Nnnn.
It is however less than nX '7 higher than the ground of the 11°%¥. Therefore when the 11°%y
stands next to the (original [shortened] wall) he can be seen by the 1\nnn, if the AN is
not immediately next to the wall, but at some distance from it.

mdoIn proves his contention that even though the wall is nM»X '7 high from the ground of
the 101N, the 11°%¥ can be seen when he stands®.

Yoy’ 33991R75 — as the Xn3 previously stated® —
"> 1177 R°RP %5 — ‘when I stand up the people of the 7"71 can see me’®.

mooIn concludes
7991 - and therefore; since the \nfn can see the 1% standing —
T9HET 9372 NIRRT 7Y Y909 7% — he is required to assist up to four m»nx

above the ground level of the upper =xm; to prevent the nnna va from seeing
the 11°%977 Yv2 even when he stands.

Summary
There are two ways to understand why the 1\nrnn must build up to nR '7

above the ground level of the 1%v7 781, A. The 11 of the Nnnn slopes
upwards as it recedes from the dividing wall enabling the 1\nrn to see over
the lower wall. B. The 1nrn can (usually) see the 11°%¥ above the lower wall
when the 11°%v stands up.

Thinking it over

1. mooIn assumes that the X3 maintains that the 7NN must assist in
building the wall MR '7 above the ground level of the 1°%y. How does msoin
deduce this?

? See "2 NI

* See “Thinking it over’ # 3.

> Concerning two roofs on opposite sides of a 7"7.

%It is assumable that a roof is more than N '7 higher than the 33; nevertheless, the people of the 1"77 can
see the 237 2¥2 when he stands.
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2. According to the >"1 17’9, would there be any difference depending on
how wide the \nrni 731 1s (from the wall to the opposite boundary)?

3. Why was it necessary for NMd01n to prove that it is possible to see someone
over a M»nX "7 high wall, from the previous &7721? It seems quite factual.

4. What are the relative advantages and disadvantages of both 2°%17%9 in
mooin? What are the practical differences 17259792
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